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MASTER OF ARTS (ECONOMICS) 

Term-End Examination 

r1n4R1--; 	June, 2018 

MEC-101 : MICROECONOMIC ANALYSIS 

Time : 3 hours 	 Maximum Marks : 100 

Note : Answer the questions from each section as per 
instructions given. 

SECTION A 

Answer any two questions from this section. 	2x20=40 

1. (a) What do you mean by 'consumer 
equilibrium ? State the conditions which 
are necessarily to be satisfied for 
consumer's equilibrium. 

(b) Given the consumer's preferences over 
goods x and y by the utility function 

U(x, y) = A.a - 0 < a < 1, A > 0 
and 	the 	budget 	constraint 	by 
Px  x + Py y = M, where P. is the price of 
good x, Py is the price of good y and 
consumer's income given by M. 
(i) Derive the consumer's Walrasian 

demand function for good y. 
(ii) Is good y normal or inferior ? 
(iii) Find own price elasticity, cross price 

elasticity and income elasticity of 
good y. 
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2. (a) Explain with the help of appropriate 

diagrams, the concept of general 

equilibrium in the (i) production, and 

(ii) consumption settings. 

(b) In the general equilibrium setting, what is 

the relation between the prices of goods 

and the prices of factors ? 

3. (a) Define Risk Aversion. 

(b) Given the utility function of an individual, 

U(W) = 20 W, where W stands for wealth, 

comment upon the Risk Aversion of such an 

individual with the help of a diagram. 

(c) The initial wealth of the above individual is 

400 and he runs a factory, the chances of 

which catching fire is 1/5. The damage that 

will be caused by such fire is estimated to 

be 300. 

(i) What is the expected loss due to fire ? 

(ii) What is the expected utility of the 

individual ? 

(iii) If the insurance company asks for a 

premium of 61, would he pay for it ? 
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4. What is production function ? Given the firm's 

production function Q = f(L, K), where Q is the 

total output, K and L represent the capital and 

labour employed in the production process with 

prices w and r respectively. 

(a) In the Lagrangian format, derive the 

condition for selecting inputs K and L, 

minimising the cost of production incurred 

by the firm. 

(b) Calculate the minimum cost of producing 

100 units of the output by the firm, given 

its production function Q = 	L) = 2K + L 

and unit factor prices as r = 1 and w = 2. 

(c) Discuss the properties of CES production 

function. 
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SECTION B 

Answer any five questions from this section. 	5x12=60 

5. What do you mean by social welfare function ? 

Critically evaluate the compensation criteria. 

6. What do you understand by the term 'Market 

failure' ? Explain with illustration how does 

imperfect competition result in market failure. 

7. (a) State the properties of Hicksian demand 

function. 

(b) Given a quasi-linear utility function 

U = 2 JE + y, calculate the slope of the 

curve for such a function. 

8. (a) Derive the reaction functions of the 

Cournot Duopoly market structure with 

demand function P = a — q, a > 0, 

C = e.qi, i = 1, 2, C is constant marginal 

cost. 

(b) How does the Stackelberg solution differ 

from the Cournot duopoly solution ? 
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9. "Adverse selection results from Hidden 
information." Comment. Explain how the 
problem of Adverse selection can be resolved 
through signalling and screening. 

10. Consider the following game : 

Player 1 

C 

20, 20 30, 30 

50, 50 10, 20 

Find the pure strategy of Nash equilibrium of the 

above game, if it exists. Is there any mixed 

strategy Nash equilibrium in this game ? If yes, 

what is the mixed strategy Nash equilibrium for 

this game ? If not, then justify why it is not 

existing. 

11. Under which market form, does selling cost form 

a considerable feature ? Explain with the help of 

a diagram the process of attaining equilibrium in 

the presence of selling cost. 

A 
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12. Write short notes on any three of the following : 

(a) Compensated Demand Curve 

(b) Elasticity of Substitution 

(c) Coase Theorem 

(d) First Degree Price Discrimination 
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